24-351 Dynamics Fal 2001

Homework #2 Solutions
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12-91. Itis observed that the skier leaves the ramp A at
an angle 6, = 25° with the horizontal. If he strikes the
ground at B, determine his initial speed v4 and the time
of flight t,p. )
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Solving,
w=194m/s Ans
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12-121. The box of negligible size is sliding down along
a curved path defined by the parabola y = 0.4x%, When it
isat A (x4 =2 m, y, = 1.6 m), the speed is vz = 8 m/s
and the increase in speed is dvg/dt = 4 m/s%. Determine
the magnitude of the acceleration of the box at this
instant. :
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